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(3) Determine v, for the following circuit for the indicated input. (20%)
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5(4) Determine the following for the 120V shunt dc generator in the circuit below. Find Ir and
. the resistance Ra.  (10%, 10%) '
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(1) If the 50V scale of a voltage meter with ohm-per-volt rating of 1000Q is to be used. Use : g |
this meter to measure the resistor Ry. How about the reading of this meter? (20%) E, =130V Q Xp
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;(2) Determine the turns ratio of the transformer in the following figure required to ensure the

maximum power transferred to the resistive load and calculate the maximum power.
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